1. I believe an exponential function would best fit the data because it is quite obvious after graphing the data that it is not linear at all.

2. I decided to try finding a linear model using two different methods: Average of the all the slopes and using a best fit first and last point. First I found formula for average of averages and found its SSE. Then found the formula using first and last points that I eyeballed and thought would fit. I calculated the 2nd method’s SSE. Compared the two SSEs to find that the first method, using average of averages, had a lower SSE. To back up my point I went ahead and calculated r^2 and once again the 1st method was closer to 1 making it the best choice. The linear model I came up with was:
y = 298.18 ( x ) - 571,433.90

3. To find an exponential model for this data I considered the equation y = ab^x + d. I then went on a rampage assuming, guessing and checking, and using mathematica’s help to finally come up with the appropriate numbers for a, b, and d. D is a horizontal asymptote I assumed to be at 25. Since the graph was an exponential growth and above the horizontal asymptote, I could assume that b >1 and "a" is positive. So I picked 2 points where the increase was obvious and used mathematica to find out what a and b are:
a=34.5514, b=1.07106
I discovered my values were significantly off so before calculating the SSE, I changed d to 0 and got much closer values to the actual values. 
a=35.6782, b=1.0707
Then calculated the SSE and r^2. I got my results but decided they could be better so I chose 2 different points and got a much closer answer.
a=28.3851, b=1.07247
However, my linear model r^2 is still closer to 1 than my exponential model. Which is confusing because the graph clearly shows an exponential graph. So I decided to try one more exponential model. My values on the 2nd try were too high and my values on the 3rd try were to low so ill pick an “a” value in between. In other words, instead of trying to figure it out mathematically, I will narrow it down and guess and check until my hypothesis seems to match the result.
a=33, b=1.0655
EUREKA! Finally my exponential model r^2 is closer to 1 (.774014) than the linear model (.763172). 
Exponential Equation:  y = 33*1.0655^x

4. After calculating the SSE and r^2, I discovered that an exponential model best fits the data. I also notice that the more decimal places I use in my exponential model, the more accurate my results will be. For this particular data, a linear model does well capturing the average slope of the data but an exponential is more accurate overall.
